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1.     a) Find the Highest Common Factor of 36 and 84

                36: 1x36,2x18,3x12,4x9,6x6

                84: 1x84,2x42,3x28,4x21,6X14,7x12

                Factors of 36: 1,2,3,4,6,9,12,18,36
                Factors of 84: 1,2,3,4,6,7,12,14,21,28,42,84

                 HCF of 36 and 84 is 12
(2)

                b) Find the Least Common Multiple of  28 and 42 

                Multiples of 28 are: 28, 56,84,112,…
                Multiples of 42 are: 42,84,126,….

                 LCM of 28 and 42 is 84
(2)

2.     a) Write the following numbers in standard form:

i)  123 000 000        1·
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ii)  4 million
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iii)  0·000005
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iv)  0·0000000287     
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3. a) Write the following numbers in standard form:

i) 
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400 000 000
ii) 4∙24 
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42 400 000
iii) 
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0·0000005

iv) 2∙89 
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0·0000289
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4. Calculate the following, giving your answer in standard form:

a) (4
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b) (9
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c) (5
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                    0·00005 + 0·0000007 = 0·0000507 = 5·07
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5. Estimate:
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6. A Memory Stick holds 128Mb of information. A hard drive of a computer has a capacity of 40Gb. 

Estimate the number of  memory sticks that are needed to hold the same information as a full hard drive of the computer.

(Hint: 1Mb = 1
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   and   1Gb = 1
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      Number of memory sticks:
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7. Evaluate:

  

i) 
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ii) 
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iii) 
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8. A shop has a sale of 20% off everything. A shirt costs £32 in the sale. What 

   was the original price of the shirt? 


80% = £32
10% = £4
100% = £40

Original Price is £40
(3)

9. Phil wants to increase a number by 35% and then decrease the answer by 28%. 

He says ‘ a quick way to do this is to multiply by 1·35 and then multiply by 0·28’. 

Do you agree with Phil’s method? Give reasons for you answer.

      No – he needs to multiply by 1·35 and then multiply by 0·72
(3)

10. Olga sells her TV for a profit of 25%. She sold the TV for £60.

      How much did Olga pay for the TV ?


125% = £60
25% = £12
100% = £48

Olga paid £48 for the TV
(3)

11. Calculate:       4
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12. Hannah measures the length of her curtains to be 
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Hannah can cut 9 lengths of curtain
(5)

13.  Express the following as decimals:


i) 
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ii) 
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Did you ‘Make the Grade’?

	Skill
	Qu
	(
	(

	I can find the HCF of two numbers
	1a
	
	

	I can find the LCM of two numbers
	1b
	
	

	I can write numbers in standard form
	2
	
	

	I can write numbers in standard form as ordinary numbers 
	3
	
	

	I can perform calculations involving standard form
Do you know how to using a calculator?
	4
	
	

	I can estimate calculations involving standard form 
	5,6
	
	

	I can evaluate negative indices
	7 i, ii, v
	
	

	I can evaluate the zero index
	7 iii, iv
	
	

	I can solve reverse % problems  
	8,10
	
	

	I understand % multipliers
	9
	
	

	I can perform calculations involving mixed numbers
	11,12
	
	

	I can express fractions as decimals
	13i
	
	

	I can express fractions as recurring decimals
	13 ii
	
	


( Yippee!! - I got all the questions correct.

( I made mistakes and need to practise this topic more.

	Top 3 topics I need to revise are

	


If your score is:

46 -62     -  Well done. You are definitely working at grade B with your  number skills. 
23 – 45     -  Promising work – make sure you ask for help and revise the topics that you had difficulty with. You can still get that B !!!

 0 – 22     -   Serious revision and help is needed if you are going to get      that B. Sort it out now. Don’t wait any longer   

MAKE THE GRADE
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or:  � EMBED Equation.3  ���


� EMBED Equation.3  ���


HCF is � EMBED Equation.3  ���
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